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'Begin' F—TJ—REEBEIFNXFLHE
Real'x, y; H A1 vprint £ 7 AR A
'Integer’ i, j; ex. vprint( x)

outstring (1, "Give me two real numbers:¥n");
inreal (0, x);

inreal (0, y);

outstring (1, "Got: ");

outreal (1, x);

outstring (1, " and ");

outreal (1, y);

outstring (1, ".¥n");

outstring (1, "Give me two integer numbers:¥n");
inreal (0, 1);

inreal (0, j);

outstring (1, "Got: ");

outinteger (1, i);

outstring (1, " and ");

outinteger (1,
outstring (1, "¥n");

outstring (1, "done. ¥n")
'End'

begin
real procedure sum;
begin real S, x; S:=0; x:=0;
for x:= x+0.01 while x<=1 do

S:=S + f(x);
sum := S/100
end;
end
begin

real procedure f(x);
value x; real x;
fi=x"2+1;
sumf := sum
end

'begin’

‘comment’ create some random numbers, print them and

print the average.

’

'integer' NN; NN := 20;

'begin’
'integer' i;
'real' sum;
vprint ("random numbers:");
sum := 0;
‘for' i := 1 'step' 1 'until' NN 'do' 'begin’
'real' x;
X := rand;
sum := sum + X;
vprint (i, x)
‘end’;
vprint ("average is:", sum / NN)
‘end'

‘end'

Jensen’s device
ex=2,V x := Sum(i,1,n,V[i])

real procedure Sum(k,l,u,ak);
value l,u; integer k,l,u; real ak;
begin real S; S:=0;
for k:=I step 1 until u do
S:= S+ak;
Sum:=S
end;
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®x= X, sy 1(GHn*(i-1))

i=1,n <]

Sum(i,1,n,Sum(j,1,n, 1.0/(j+n*(i-1))) )




